Unit 4 Systems of Equations and Inequalities 489
Lesson 21 Cookies and Calories—Using the Elimination Method
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1. Try to answer the following without solving for x and y first.
If 3x + 2y = 6 and x + y = 4, then

A 2xty=2? B. 4x+3y=27
Ix+y=2 Yx+3y= 10
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2. Solve the system of equations |’ 4

by graphing. y=-X+5
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3. Create a new system of equations that has A A
the same solution as Problem 2. Show either
algebraically or graphically that the systems
have the same solution.
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490 Module 2 Solving Equations and Systems of Equations

4. Without solving the systems, explain why the following systems must have the same solution.
System (i): 4x —5y =13 System (ii): 8x — 10y =26
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Solve each system of equations by writing a new system that eliminates one of the variables.
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